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Question 1

Question Type: MultipleChoice

Which of the following answers contains only concepts within the scope of the ArchiMate Implementation and Migration extension?

Options:

A- Work Package, Artifact, Plateau, Driver
B- Work Package, Deliverable, Plateau, Gap
C- Project, Work Package, Deliverable, Plateau

D- Project, Resource, Deliverable, Gap

Answer:

B

Question 2

Question Type: MultipleChoice




Which of the following answers correctly describes the junction relationship?

Options:

A- It connects structural relationships of different types
B- It connects dynamic relationships of the same type
C- It connects dynamic relationships of different types

D- It connects structural relationships of the same type

Answer:

Question 3

Question Type: MultipleChoice

Consider the following diagram which shows the service Contracting that is delivered by the business process Close contract.



What is the most appropriate ArchiMate relationship to be used for (1)?

Options:

A- Assignment
B- Realization
C- Aggregation
D- Used by

Answer:




Question 4

Question Type: MultipleChoice

The team of business architects at ArchiSurance wants to tailor ArchiMate to the specific needs and characteristics of their organization.

Which of the following options to tailor the language is not advisable?

Options:

A- Select a subset of the ArchiMate concepts and relationships
B- Add new organization-specific concepts and relationships to the business layer metamodel
C- Define organization-specific specializations of existing business layer concepts

D- Add organization-specific attributes to existing business layer concepts

Answer:

B

Question 5

Question Type: MultipleChoice




Consider the following diagram:
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Which of the numbered relationships is correct according to the ArchiMate metamodel?

Options:

A- Number 1
B- Number 2
C- Number 3



D- Number 4

Answer:

Question 6

Question Type: MultipleChoice

The Document Archiving application relies on an archiving service, which it accesses through a reliable queuing interface.
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Which relationship would most accurately describe this situation?



Options:

A- Assignment
B- Realization
C- Used By

D- Triggering

Answer:

C

Question 7

Question Type: MultipleChoice

Which of the following best defines "architecture" in the context of the ArchiMate standard?

Options:

A- A high-level summary of a system that is accessible to non-technical executives and other stakeholders



B- A formal description of a system, or a detailed plan of the system at component level to guide its implementation

C- A description of each component of a system in sufficient detail to ensure that the component is designed and built correctly in every
respect

D- An enumeration of the key concepts and philosophies that motivate and shape a major system

Answer:

Question 8

Question Type: MultipleChoice

In general, what concept would you use to define a point of access where an application service is made available to another application
component?

Options:

A- Application service

B- Application function



C- Application interface

D- Application interaction

Answer:

C
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